ADJUSTABLE WALL SUPPORT

Phone: (919) 575-6426
Fax: (919) 575-4708
INSTRUMFNT COMPANY www.eNewton.com

Modified:09/28/2009

Bracket
4 Places

5/8" Threaded Rod

1/2" Hex Nut & Washer

Wall
3 Places

5/8" Hex nut
4 Places

5/18—11 HHC

2 Places
Equipment Rack

Insulator

part number

2178290310

2
S
-
o
c
=
(7}
k)
B
(©]

BRACING FRAME FROM PARALLEL AUXILIARY FRAMING Modified:07/01/2014

Ordering Table
Part Number | Aux
00104100xx ‘ Bar
00104101xx Channel
Stock List
Item | QTY | Description

1 1 5/8 Lock Washer

2 2 Clip

3 1 5/8-11 HHCS

4 4 Bracket

5 5 5/8-11 Nut

6 3 1/2”-13 HHCS

7 3 1/2-13 Nut

Notes:

BRACING CABLE RACK FROM CABINET

* Finish is zinc plated and gold chromate.
¢ Not included; refer to 001021 or 001022.
¢ Not included; refer to 003022.

Modified:02/16/2012

Cable Rack part number

2
OB /_ (Not Included) o

T
|5 A

2108370010

,v

Cabinet
End View

o
c
=
7]
ko)
S
o

5/8-11 Threaded Rod;
Order Separately
(Refer To Fig. 003022)

Notes:

|
' Cabinet * Finish is zinc plated and gold chromate.
| (Not Included)

Stock List

Qty Description

cable rack hanger bracket
5/8”-11 x 3-1/4" hhcs
1/2”-13 x 1-1/4” hhes
5/8"-11 hex nut

bracket

1/2”-13 hex nut

5/8” lock washer

N o o0 AW N =
= NN W N ==

201

The information contained in this drawing is the sole property of Newton Instrument Company Inc (NIC). Any reproduction in part or whole with out the written permission of NIC is prohibited



NEWTON"

INSTRIIMFENT COMPANY

Phone: (919) 575-6426 .
Fax: (919) 575-4708 Bracin g

www.eNewton.com

BRACING ASSEMBLY, INSULATED Modified:07/14/2014

202

Ordering Table

Part Number

Auxiliary Framing

not included refer to 002021xxxx or 001022xxxx 21060400xx
Stock List
Item | QTY | Description
1 1 Insulator
2 1 1/2-13 X 1"HHCS
3 5 1/2 Lock Washer
4 3 1/2-13 X 2"HHCS
5 10 | 5/8 Lock Washer
6 10 | 5/8-11 Hex Nut
7 7 Bracket
8 2 5/8-11 X 48" Threaded Rod
9 4 Framing Clip
10 2 5/8-11 X 3 HHCS
1 5 1/2 Flat Washer
12 4 1/2 Hex Nut
13 1 1/2-13 X 4" Threaded Rod
14 4 1-7/8" Framing Clip
Notes:

* Finish is zinc plated and gold chromate,
finish code 10.

* Insulator material is rated U.L. 94 V-1 and
has an oxygen index rating of greater than
29.

The information contained in this drawing is the sole property of Newton Instrument Company Inc (NIC). Any reproduction in part or whole with out the written permission of NIC is prohibited



